














T ransAT C odes

!!!!!!!!! Variables Declaration MM!!!!!)!!!!!!!!

Integer:: ii,i,j,k 
integer:: ni, nijk, nj,iteration 
real(iprec), dimensionC:), pointer:: phi,x,y,p 
real(iprec)::timenow,Xl,X2,Yl,Y2,Xp,Yp 
Character (len=20) :: temp

! I j ! I I ! I { ! ! ! ! ! ! ! ! ! !  I ! ! ! ! ! ! ! ! ! !  I ! ! !  I ! ! ! ! ! ! !  I !  ! !  I ! !

timenow = get_real("ctime") 
iteration = get.integerC'timestep") 
ni = get.integer("ni")
nj = get_integer("nj")
nijk = get.integer("nijk")

!!!!!!!!!!!!!!!! Get to Phi ! I ! I !!!!!!!!! I ! I ! I

call set_pointer(phi,"levelset")

!!!!!!!!!!!!!! Get to Cell Centers !!!!!!!!!!!!!!!!!!!

call set_pointer(x,"cellcenterx") 
call set_pointer(y,"cellcentery")

!!!!!! Get the value of the pressure !!!!!!!!!!!!!!!

call set_pointer(p,"pressure")

! ! ! ! ! ! ! ! ! !  I ! ! ! ! ! ! ! ! ! ! !  I ! ! ! ! ! ! !  I ! ! ! ! ! ! ! ! ! ! ! !  !

!!!! Writing the interface :Start ! ! M  ! ! ! ! ! !
I M  I M  I M  I t I I M  M  I I  M  I I I I I ! I I I M  I I t I ! I I I ] M  !

if (mod(iteration,10)==0) then 
writeCtemp,*) iteration 
temp = adjustl(temp)
Open(10,file=’Interface/Int_’//trim(temp)//’.txt O  

write(10,100)timenow,p (10)
10 format(E11.4)
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!!!!!!!!! Along Horizontal direction !!!!!!!!!!!!

do j=l,nj 
do i=2,ni 
ii=i+(j-l)*ni
if ((phi(ii)*phi(ii-l).LT.O)) then 
Xl=x(ii-1)
X2=x(ii)
Yl=phi(ii-1)
Y2=phi(ii)
Xp=(X2-Xl)*(0-Yl)/(Y2-Y1)+X1 
Yp=y(ii)
write (10,100) Xp.Yp 
endif 

enddo 
enddo

!!!!!!! Along Vertical direction !!!!!!!!!!!!!!!!!!

do i=l,ni
do j=2,nj 
ii=i+(j-l)*ni 
if ((phi(ii)*phi(ii-ni).LT.O)) then 
Yl=y(ii-ni)
Y2=y(ii)
Xl=phi(ii-ni)
X2=phi(ii)
yp=(Y2-Yl)*(0-Xl)/(X2-X1)+Y1 
xp=x(ii)
write (10,100) Xp.Yp 
100 format(E11.4, ̂ \E11.4) 

endif 
enddo 

enddo 
close(lO)

!!!!!!!!! I ! I !!!!!!!!! I!!I I I I!I I!!I I!I!I!I ! I I

!!!! Writing the interface : End !!!!!!!!!!!
!! I ! I ! I !!!!!!!!!!!!!!!!!!!!!!I!!M !!I I!!!!!! 
end if
END SUBROUTINE user_processing
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